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Candidate should not write his name, Roll No. or Signature or any
Identification mark anywhere inside the Answer Book except at the specified
space, failing which candidature will be cancelled.
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Write answer either in Hindi or in English or in Regional language.
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Ensure signature of Invigilator / In-Charge Official on the Answer Book / Extra
Sheets.
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Return Answer Book / Extra Sheets within time allowed to the Invigilator.

5. SIS ATYAT HT TR AL | .
Do not use any unfair means
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Partially correct answer, correction and over-writing will make the answer
invalid for allotment of marks in the Objective Type question (Question No. 1)
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Question No.1 is compulsory. Write any other 4 (four) question.
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‘ Q.No1l. (A+B+C)

A. Answer any 16 questions (Multiple choice) ~ ‘ 16X2= 32
G R 16 WA AT TR A (CWT WHEe FR)
a) Indication of BIR rela in a Motor Co hIS- 7
Nl
Motox Coach !Z BIR T Wﬁ:ﬁ_w% it W% (g

i) Transformer over current ii) Over current in TM iii) Oil leakage from Transformer iv) Gas formation in
transformer.

b) During startmg of a |paded train , Loc otlve draws-
g SRR s 4 fap cifetaer GRI .

i) Maximum power ii) Maximum voltage iii) Maximum current iv) All above factors, i), ii) &iii)

[

c) Function of DCIlnk ca r a3/_PhaseIoco isto_
O 3- 45 QfT Co.f;a.c;d-cn’ AT FTH ﬁTZlT

i) Store DC voltage ii) Help in reducing AC ripple iii) Connecting Converter with Inverter iv) Providing input power to
inverter

d)What is the function of MRB in a 3-phase loco-

OF 3- 8 @H Aaq & MRB 4T K@ AR

i) To cool RB ii) To cool TM ii) To cool radiator iv) To maintain air pressure in Engine room

e) Purpose of 3rd wmdmg in a 3- phase transforrger is

WEA TSI T OF 3 ﬂmm&mwﬂm%rwgl

i) To keep harmonic level at minimum ii) To maintain PF at 1 iii) To help in regeneration iv) To prevent high Voltage

f) In a transformer, primary ampere turns are counter balance By- .

S g SR RAT R
23 Ha,w,fesvw.u T l,nﬁIHTeﬁ @@42“2 A cr‘r Lfﬂ T 28U
i) Secondary ampere turns ii) Primary flux iii) increase in mutual flux iv) Increase in secondary current
g) Convertor_in a 3- phase IGBT loco is cooled by coolant which is - > Sr AW%%
\ @:\xzzﬂﬁoﬁmmwommmmaﬁﬁ 2 G | S
gia el 2

i) water base liquid ii) Oil base compound iii) fluid iv) Mixture of oil and gas
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h) Flow of electric current in a conductor is due to flow of —
Wy A A Eleabre 4k & amenn 2 dger &
W T Bleehre a@e O gEgw & HATERH dawr &
i) Electrons ii) Protons iii) Electrons and lons iv)Charged particles

(4
1) A200 W, 100V lamp when operated at 250 V DC supply, additional resistance required to be connected in series
will be_

K 200w, 6oV s T 2s0v DC %M (T G v @ Readrtames
o

i) 125 Q, ii) 50 Qiii) 75 Q iv) 25 Q
j) If 2 A current flows through a 2Q resistance , it will dissipate heat of - A (2
. ) :
T 2059 Reniriamer X 2A aF a2 Gresw BN Awaron U
\ i) 2W i) 4W iii) 8W iv) 16 W
k) Electrolyte used in Nickel- Cadmium cell is - > - - ? '2
- Viekol- Cadmium SR A TR g% Al Blecknly s &
i) NaCl ii) NaOH iii) KOH iv) H2S04

I) If an Ohm meter reading immediately goes practically to Zero and stays there while checking a Capacitor, the

Capacitor is- e oham g‘\d-‘ % ?ﬁfﬁ &fau“d‘( iy q'(ZTs\';( &% 82:\,%

i) leaky ii) short circuited iii) open circuited iv) Cannot be said.
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m) ESMON type energy meter in locomotive/motor coach useﬁ_

: 4 it EsmoN Type
aﬁ@com'kuu./ Motesy eoacl ‘a— e oA
ST TZNT & L

\ i) Current thro CT and Aux voltage of TFP ii) PT & CT provided at roof iii) Current thro CT and TM voltage iv)

Current and Voltage of TM

n) Tge Form- factor is the ratio of§3‘ltage of - ? 9

GR ETHATL ey Voltage STTAN ¢ ¢
i) average value to rms value ii) rms value to average value iii) peak value to average value iv) peak value to rms

value

o) The coil span in any AC machine -

O% AC Mactume AT @ TR Spam @w{r?
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i) must be equal to pole pitch ii) can never be equal to pole pitch iii) may or may not be exactly equal to pole pitch
iv) none of the above

p) In forward direction of its characteristics a Diode appears as - Q?
OR DIODE AT =27 1@ MITAE TaT & & T 3L
i) an ON switch ii) an OFF switch iii) a capacitor iv) a high resistor
q) LEDs are fabricated from- p A ) g (2
AED AT ITIN W SUTE a\g‘ ol CTNT & °
i) Silicon(Si) ii) Germanium (Ge) iii) Si or Ge ‘iv)Gallium arsenide
r) Skin effect depends upon-

‘SN Bfteet’ TRE AT Wlﬂﬁ?g

\ i) X- section of conductor ii) supply frequency iii) permeability of conductor material iv) all of the above

B. Fill up_the blanks ( any five) O =10
2T qr N SAL ( @A <)

a) Speed sensor of TM are fitted at........ccoevvvvvrinieeninienn, in a 3 -phase loco
3 B oitax oF Tswa AET v zav &
b) Slngle tender is normally called from ........cccevveeenns for procuremsnt of material ol q (3_ e g‘ 2
= =T Joy U - ¢
7T TR Tq 2 AT ATTE T,

c) 3-phase loco can work when frequency is 50 ™ +/-........ccoeue.

3 WA TR Somts g gﬁ“or}mﬂ? A qR @z a}?rzﬁﬁéi

@qx;(&rﬁm'?ﬁ —_ kmph & =f@t 6T G st BT ofel
FazeT & a1 7N

‘ : i,
e) During regenerative braklng application, sl|p of M [ — than 1. Q é}ﬁ]
\ - — - »

0

f)Magnetic field produced by an elé‘lc conductor is at ......... w.r.t the direction of flow of current 5@
;‘C{Z =]

O Blechic oI CTTar = o7t nekie frelol
IE AT AT triry é’ ° £ ot W\ﬂg

—— . -

C. Write full form( any five) - q ‘. 5X2= 10

o sl TAN @ g T ad (e = )



a)OCB  b)OCR ¢c)MPCS d)FRPCPM e)FA& CAO f) CRGOS

2

Q No 2. What are the main differencg?s between a WAP4 and a WAP7 locomotive? 12

whfd Bz PP SRl S GEANT YA BET

Q No 3. i) What do you mean by Disciplinary authority? ii) Name punishments which can be imposed under
major penalty.

fu Mmgz'}rmﬂrarmv??ﬁmzﬂt_m
&‘3‘ Ao G & 1

4+ 8=12

Q No 4. As per official language act , Indian states and Union territory are divided in how many groups. Name
group under which these states are classified i) West Bengal i) Maharashtra iii) Haryana . Who takes the salute

on the occasion of Republic day parade at Rajpath, Ne Delhi? g6+2=12
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Q No 5 Diameter of wheels of a moving train is 1 mt. If TMs rotate at 3000rpm what is the linear speed of the
train. Assume gear ratlon of TM and Wheel as 20: 100. 12

< ax | & arg dIT Dwumekwr T 3T 1(:(\4
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QN06 Write short notes on any two q A A 6X2=y 12
@ -
W & s et a2 e A o Rz ﬁ)

i) Smoothing reactor ii) Machine room blower in 3- phase loco iii) Vigilance control device

Q No 7. Write steps to be followed for procurement of Stock item through Stores department. 12
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